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For each description, list the numbers of

all of the locations that match that

description.

1. It’s in a high pressure belt.
2. It’sin a low pressure belt.

3. It’s in a major desert (not caused by

rainshadow effect).

4. It’s in a major rainforest (not
caused by rainshadow effect).
5. It’s in a summer wet / winter dry

region.

6. It’s in a summer dry / winter wet

region.

7. It’s wet because of breezes from

the ocean.

8. It’s wet because of the rainshadow

effect.

9. It’s dry because of the rainshadow

effect.

10. It’s in a relatively cold ocean

current.

11. It’s in a relatively warm ocean

current.

12. It’s experiencing a wind that is
coming more from the west than

from the east.

For each description, list the numbers of

all of the locations that match that

description.

rainshadow effect).

region. !
‘region.
the ocean.
effect.
effect.
current.

current.

from the east.

It’s in a high pressure belt.

It’s in a low pressure belt.

It’s in a major desert (not caused by

It’s in a major rainforest (not

caused by rainshadow effect).

i’s i a summer wet / winter dry

1t’s in a summer dry / winter wet

It’s wet because of breezes from

It’s wet because of the rainshadow

It’s dry because of the rainshadow
. I’s in a relatively cold ocean

. It’s in a relatively warm ocean

It’s experiencing a wind that is
coming more from the west than



For each description, list the
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numbers of all of the locations that

match that description.
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It’s in a high pressure belt.

It’s in a low pressure belt.

1It’s in a major desert (not caused
by rainshadow effect).

It’s in a major rainforest (not
caused by rainshadow effect).
It’s in a summer wet / winter dry
region.

* It’s in a summer dry / winter wet

region.

It’s wet because of breezes from
the ocean.

It’s wet because of the
rainshadow effect.

It’s dry because of the
rainshadow effect.

It’s in a relatively cold ocean
current.

It’s in a relatively warm ocean
current.

It’s experiencing a wind that is
coming more from the east than
from the west.
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